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TI-84+ GC 36 Finding Values of a Sequence Using Lists

Objective:  Use the sequence operation from 2™ function LIST to calculate terms in a sequence

LIST will do many things, but we're using only the sequence operation, called seq( in this exercise.
The seq( operation requires four inputs:

1. expression to be evaluated,

2. the index variable used in that expression,

3. the starting value of the index variable, and

4. the ending value of the index variable.
These four are listed one after the other, in order, separated by commas.

Example 1: What does seq(1/n, n, 1, 4) > frac do? v
Answer: lt displays the sequence {1%,%%}

."\

Example 2: Calculate thé first 10 terms of a sequence whose general term is a, = (——;—)— and write
n

the results as reduced fractions (exact answers).

Open LIST, then select middle menu OPS:

OPS MATH HAMES MATH
w ?Sortﬁ? ,
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Select option 5 for seq(

NAHES E? MATH | [sea( | LTAAT
1:1Sort o
2:50rtDY( oade L
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i 9% iy A i )
= sedl ¢ o L (;@;Lj),
I fcumSum e
i 5 fdalist( ”17\. 7 Seiéct Dy oo ETRR

Type the four inputs: (keystrokes and images on next page)

1. Type the algebraic expression for the general term, a, = (;1) , followed by a comma.
4]

Type the index variable N and a comma.
Type the starting value of the index variable, 1, and a comma.
Type the ending value of the index variable, 10, and close the parentheses. Press ENTER.

hob

The resuit is a list of decimals separated by spaces. Use the right arrow to see the entire list.
Copyright 2011 by Martha Fidler Carey. Permission to reproduce is given only to current Southwestern College instructors and students.
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Using the right arrow shows lengthy decimals, which are pretty annoying:

sey({ ~1 ) "NAC3NY s | sea(C =12 "NAC3NY . | Isea(( -1 3N (3MD,
MN>1,182 M:1:18) 21,183
s« 166E66E666T .. .? 11111111110 (.1 .B833333333 ..

Convert decimal to fractions as usual: MATH menu, option 1, >Frac.

etc.

2 NUM CPX FRB sl Ih*Hf(SH),
rrrac HMs1.182
rDec 1 .B833333333 .
i3 Ans+Frac
%Ei:l[( {-1-3 1f6 1.9
&2 fHing
Z4fHaxt (eter) [enter)

Again, use the right arrow to move through the list.
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Copyright 2011 by Martha Fidler Carey. Permission to reproduce is given only to current Southwestern College instructors and students.
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Math 70 Word problems for Sequences

1) The amount of weight, in pounds, a puppy gains in each month of its first year is modeled by a
sequence whose general term is @, = n+ 4, where n is the number of months since the puppy’s birth.
a. Write the first five terms of the sequence. '
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b. How much weight should the puppy gain in its 5™ month?
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2) Mrs. Laser agrees to give Mark an allowance of $0.10 on the first day of a 14-day vacation, $0.20 on the
second, $0.40 on the third, etc.

a. Write the general term of this sequence.
CM».Q~L«»07<>"C‘DQ>
Ap T 2D = C 0)(” = (. ’))L':l

AN O CORNALY
474 =+80 2 Gio)(8) = (1090077

b. Find the allowance Mark w111 recelve on the last day of vacation.
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3) The number of cases of an infectious disease is doubling every year so that the number of cases is
a, =75(2)"" where n is the number of the year just beginning.

aﬁé'@(f)h‘lj

i

a. Find how many cases there will be at the beginning of the 6" year.
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b. How many cases were there at the beginning of the first year?
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Az = | +— —243 =1 so A=, +3

d» = 4 «— +3=4 A3=A,+3
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a, = -3
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6*4[ = - o
A2 = A4+3

alf = +_§_(3) notice a cot—(/n‘l‘ﬂf'ﬁ "Pédh?fﬂ
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b= a; +1(3) Ne 2 bet caledaction uses |&n-1)
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=ay+(-1)3 = [-2+30-1); or -213n-3 =[-I1+3n]
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A, -6, -13, 54
step |« Tdenhhy fhe birst +erm and \yhat is done +o get eud term

a;; -3
dp= -6 = —3A-4 or -2x3
aa.: -5 = "(0""2 or "é)(3

Ay= —bif = =1§=3L ©or —I5X3
o’ O ;
we dontd use add We use vubhply .
becavse Hs vt blcause I mwl‘h’p/.j b UK
fhe Same ¢very-hme Sach +ime.

SJ’ZEQ: l/(ﬁ{ng ﬂq in /Djéﬂe’ of the Lirst '}—ﬂr’m/ write q?vwr?. FOrv as 4n
EXPIres510m uSMg a Onf? (nﬂ’ Az, 0 /éfc)
A= —-A
aa = —fp = a/‘-ﬁ
1 L’Tf’:}'“/ """" ¥ 4} 2.
(/2,‘:. -1g = 42’3 = (6?;"3 é = al’3

tr= te2= a3 = (55 = q-5"

glgg 3 ¥ Mofice > Rt,,ae/aﬁec/’ Mulﬁ,olzcdﬁﬁn beromes Mu;‘h"plgmg
by a factor witt, an 'ﬂxﬂpnem‘{:

skep it Tdeanby 1he mdex of each term with he resuts from stp 2,

N=1 4,= -2 — ;3 N=1 hat calculahdn uses p-1=0
N=9% dy= §;,3 — d, ,,3’ V=2 but calewlahon uses n-il={
=3 lp= -3 N=3 but calewlation uses ri-| =3
n=4 dy= 4a: 3’ n=4 but caleulahon nses n-ij= 3

-1
%9 Ap= a, 5(3)

—%(3)71‘;4(&

. n-l
An= -2-(3)  or




AN

M c\;%x G

5 ’lo*)

';\/ RAC NN -

—_— 5:.-)—)

. S’FFCC\— €<a_La/ I " é Qovwm\ [ SP__C‘ WL N2

“© -z, ¢, -

CA\y = 5{\' (B

-i*‘:ifﬁ_l_ No+((/&_ Yot eact Yoo & L Avwvaes dle ?(‘-e,,\l[ oS

>

5%'(8 P ﬂe/ Q}Qne,rc\,Q “"’{v’m (s

S

wvi- i

Aa= A .

ﬂe/ —C’\fs-\— —\/zrvm, "r(vmes A '\Do\x\)w 010 C

A\

— —~
- - i

= 3

A

. S-\/e (.') ‘)_7 p

i

= -1(3)

T8 tie coctFiciont (4D has a commeon
AA

V&om caw CG“’V\\O;"‘{* + SA‘VV\PKKP‘?I'

e P Y ceck

= |
W= ")

WV 2

-2.(2)
2
- 2(3)

X
2 (?)

!

C»“\\'ﬁci ’\/‘/\Q Cowvnmimon Yatic: Vv 5 e vavielle
—ommoen T s

‘(:—acﬂ"a‘f (\)



Matt. 30

5’7{'1’ ck:\"fé'/‘aryck I‘\JM .

- 5(% v R cff S.-Q,x%,/b\;?,-v\(__m_ ﬁbt: Ci \(’\L_‘— C’Lw +(:3
& - ,
D 5’ a 21 ) > / 53 .
e Fio +iu +ig
?m LMD"H Ce ’\’EUJJ\ \We ac\cj Gw @ nere 0~5'\\'“} (2% W\log_ -
€ o chh tHive .
Efzg L Substhibore Ahe £iest Hucoe Yovmns o oot e~
Vinear systemn Witk Ylvree walaown Varialoles,
’ ~ . z
C, 3 C, , (&V\Cj Cy . \A’)\\/\.{é An= C,n + C N 4y
In=\ ; * :
= 5();:_ C,\ol 4 ¢, -\ + Coy
b= oo ~ - [BX pobeelct o0
\ -+ Cl + C--z) <l s+ €tc Dy
Nn= 7 -
""" - A= Co L+ ¢, 2 + C4
= 4 C 4+ 2c - L Zv\ci €a et &3
| 2t Co %
N = wb a - 7)2
ERE =P B
2\ =
S—l—e D . [ ) i
—= 5?\0?/ Lonear ‘otéfsir@vv\ USh g mahAces
VA,»"W'L Cjc; ,‘ :
l { ¢ 5 \ S o e N < =
7 \ .
L; \ ( = © v o @ Cy = O
3 . , ‘ E
QV\’:" Q—-V\‘—”\" O w + ’5

\G\V\”’«- ’&vf\b - %W

SHe e 4 check .




Mt 3o
54_} ':L;F—Q,fj 13'_ E . De (/{ P e LL.\ o# a_ PVQ_ v G S WPz‘k_{’fQY\w\
‘@ { \ i \

P N — /-)
G q 2 = 2 s

? LE‘E i e e Aot Mee e \.L.:a:i-cvs ove S
= &(dci 3 “ Y)ﬂ%mv\ \ ?L() uouﬁ 57“"(&;\"2%13_ l
{ A = (o
14d4=3
An = G+ 3(\/\*«\3 i wmetic SQC*\V&-‘@V\C—Q/
An = @ -+ 51/\""3
A= B+

An = I
3’(\'\”3

Sf’:f 4. check

stepZ . Take reaprocel of result

/?"a-ch'ce_,
@ ¢ 3z 2 2

3
/2y ¥ > %m0

, o | N
5}'_6:&;\_‘ L Nohce WwWe divs Ae \0 ‘3 . = WAL i}("%’ e Y 2
Cacdn step . TTInis U5 s-Jrvosi—e% o .

sepdr T O
Y= \/)..

e
An = b ( Jz_> z

S
— Skep3 g= 221

O ."\.:'V\C(/Q : 2%—3




7

D‘}ﬁ E ’:; . &(l - 3

”’lep Vo Wk ce Fhad we odd A
S =3

~flare 1% S’\\’vaﬁ'ﬁ%m}_ I .

—

S

Ao L

\

—

2z

€ a.c;L\ Hone



50

Find the qenevaldevm of fhesequence =5,-12,-19,- 26 ..
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